Handout Example Section 2.2: Deciphering an Affine Cipher

Example: Suppose we wanted to decipher the message “ARMMVKARER” that was encrypted using the affine cipiher 
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Recall here that x is the numerical representation of the plaintext letter and y is the numerical representation of ciphertext letter. To decipher, we must solve equation (1) for x. We do this using the following steps:
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(switch both sides of the equation across the “=” mark)
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     (subtract 5 from both sides of the equation)
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(use the fact that 
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  (multiply both sides by the multiplicative inverse of 3. NOTE: In MOD 


arithmetic the division operation 
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NOT CORRECT!!)
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(use the multiplicative inverse MOD 26 table to see that 
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Using the decipherment formula 
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, we can decipher the message using the following repetitive steps:
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Hence, the message is “HELLO THERE”.

_1136816812.unknown

_1136817363.unknown

_1136817855.unknown

_1136817941.unknown

_1136818073.unknown

_1136818175.unknown

_1136817925.unknown

_1136817654.unknown

_1136817828.unknown

_1136817427.unknown

_1136816919.unknown

_1136817070.unknown

_1136816896.unknown

_1136816598.unknown

_1136816736.unknown

_1136816359.unknown

